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o(t) =2n+2sin(2mt)

and the transmitted signal is

Acos[6(r)]

F . where

~

0l = /‘(J)(t)dt
/ l%g,,a}"(b) PM signal (3 Marks)

find the expression proportional to m(z) if the signal is a (a)

arrow of the block diagram. (3 Marks)

3. A AM DSB signal with carrier is fed into a syste
and d(r). The carrier amplitude A > m(t) (7Mat

AM
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Figure 1: Figure for Problem 3

3 transform of a signal, m(t) is my(t), then show that the Hilbert transform of my(t) is —m(z).
Sahéf%that the energies of m(r) and my,(¢) are equal. Also show that

g‘*’«si » ‘
4. If the ﬁi:%fg

N / T mem()dt =0 (5 Marks)

J —o0

A\\%\
«'5. An FM signal is

\%ﬁg,»zf’y

s(t) = Acos[w.t +0.1sin(20007¢)]

Find (a) The power of the modulated signal, (b) The frequency deviation Af (c) The phase deviation A¢, and
(d) Estimate the bandwidth of the signal. (4 Marks)




6. For a VCO with characteristic given by
f=10"+2x10%;, (Hz)

where v;, is in volts. Find the expression for the instantaneous frequency in the range —5 < ¢ < 5 for

0 <0
mit)=¢1 0<r<1
0 r>1

where m(t) is in volts and 7 is in seconds. (3 Marks)




